Prefixes — Finishing Sentences Answers

1 Which of these prefixes is needed to complete the following words?
de-, dis-, re-, mis-, over-

e) disrespecting j) revisit

a) overpaid f) mistreat
b) discover g) defrost

c) overreacted h) disappear
d) revising i) deserve
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2. Choose a word which begins with one of the prefixes above to complete
these sentences. (There may be multiple correct answers.)

a) reappear
b) overtake
c) display _
d) mistake Challenge 1 Answers:
)

e) react

L 1 Which of these prefixes is needed to complete the words to fit the
: sentences? de-, dis-, re-, mis-, over-

a) reintroduce f) disbelievingly

b) dis/mistrust 9) devalued

c) deforestation h) disinterested

d) overbearing i) miskicked

e) resupply j) overestimates

2. Insert words beginning with one of the prefixes mis-, de-, over-, dis-, re-
to make the sentences make sense.

a) reanalyse

b) relocatefrebuild
c) deactivate

d) misshaped
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